
Question #63798, Chemistry / General Chemistry 

The decay constant of Cobalt-60, a beta emitter, is 0.1307 years-1 

- What is it's half-life? 
- If 786 μCi of Cobalt-60 is found in your facility, what activity will remain 23 years later? 

Solution: 
Rate of decay can be described as: 

𝑁 = 𝑁0𝑒−𝑘𝑡

N - amount of atoms left 
N0 – initial amount of atoms 
k – the decay constant 
t – time. 
- What is it's half-life? 
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0.1307 years−1
= 𝟓. 𝟑 𝒚𝒆𝒂𝒓𝒔 

Half-life is 5.3 years. 

𝑁 = 786 𝜇𝐶𝑖 ×  𝑒−0.1307×23 = 𝟑𝟖. 𝟗 𝝁𝑪𝒊 
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